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5.2.1.8 ,
5.2-1.9 ,
23 w/m’. h 3C; 23—116 w/m’. h
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, 1
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5.2.2.7 . ,
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( ) .
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5.2.3.5 ; 85 dB(A).
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3 dB(A) s C 5. 115 dB(A),
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6
dB(A) dB(A)
75
60
55
60
70
5.2.3.7
7
[dB(A)]
100 140
1000 130
10000 120
5.2.3.9 , 4 5 m/s%,
4 8
8
(h) (m/s%)
2~4 6
~2 8
~1 12
5.2-3.-10 . .
9
(h)
dB(A) m/s’
8 116 0.62
4 120. 8 1.1
2.5 123 1.4
1.0 127.6 2.4
0.5 131.1 3.6
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( /)
dB(A) m/s? dB(A) m/s?
8 110 0. 31 100 0. 098
4 114.8 0.53 104. 8 0.17
2.5 117 0.71 107 0.23
1 121.6 1.12 111.6 0. 37
0.5 125.1 1.8 115.1 0.57
5.2.3.12 ,
5.2.3.13 . .
5.2.3.14 GBJ87 , . .
h.2.4 (
5.2.4.1
5.2.4.2 300 MHz—300 GHz 11
11
(pw/cm?®) (pw/cm?®)
50 400
25 200
500 4 000
Pd=400/t
Pd. (pw/cm?) ;
t: (h)
Pd=200/t
5.2.4.3 5 mw/cm?,
5.2.4.4 30 MHz—300 MHz 12
12
(h)
mw/cm? v/m
8 0. 05 14
4 0.10 19
8 0. 025 10
4 0. 05 14
5.2.4.5 0.1 MHz~30 MHz 13
5.2.4.6 .
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(MHz) (v/m) (A/m)
0.1~3.0 50 5
3.0~30 25
5.2.5
5.2.5.1
5.2.5.2 ( )
1 kv/m.
5.2.5.3 5 kv/m,
5.2.5.4 s \
h.2.6 (GB4792—1984)
5.3
5.3.1 20 m* , 30 m* 5
20~40 m® 20 m?® ; 40 m?®
1) SO m3
5.3.2
5.3.2.1 ( ) 4 Y(GBZ1—2002)
5.3.2.2 30~50 m*/h,
5.3.2.3 14
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) 20~24 25~28
(m/s) <0.2 <0.3
% 30~60 40~60
5.4
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6
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B. 1
Bl
<15 I
~20 I
~25 I
=>25 N
B.?
I=M - 10
1.
M:8 (kcal/min » m*)
Bl ,8 ( )
I ;110 kcal/h * per
I :170 kcal/h « per
I :220 kcal/h « per
N :300 kcal/h * per
:1 kcal=4. 18K]
B. 3
B. 3.1
1~2
( ) s 3 o
B2):
B2
(h * min) (min)
B.3.2 M )
B2 ( ) o
( B3,
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B3
(kcal/min * m*) (min) (kcal/m*)
a b axXb
1. 000 40 40
3. 400 100 340
2. 000 60 120
2.500 40 100
2. 000 90 180
1. 200 30 36
0. 900 120 108
— 480 924
;1) (M) B3, 3 s
(M) (Kcal/min » m*)924/480=1. 925
=M -« 10
1=1.925X10=19.25CI )
Bl s I
B.3.4 (M)
, , 5 )
( ) s 2~5 s
s o 5~10 (5
, ) ( B4 )6
B4
cm
Kg cm®
L /min L /min
N (x) [./min « m?
(Ye) kcal /min * m?
:logYe=0.0945x—0. 53794 (D
log(13.26—Ye)=1.1648—0. 0125x (2)
X: (L/min » m?*)
Ye: (kcal /min * m*)
3.0~7.31 L/min * m* (D
8.0~30.9 L/min * m* (2)
7.4~7.9 (O+(2 o

(m*)=0. 061X (cm)+0. 0128 X (kg)—0.1529

B4 Ye ’ B5 ’ ( ) (kcal/

min * m?), B3 o
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